CATALOGUE OF OIL PRESSURE SWITCH

Mhw no: BJQ0O0O1

Part no:
Application/0.E. M:

TOYOTA 83530-60030
DAIHATSU 83530-60030-000

i@ 2 %us-z?-wm ﬁ 635

L

0.3bar

Mhw no: BJQO006
Part no:
Application/0.E. M:
G.M

g\g 2?‘ %3-‘3-18-NPT- B §.35

Mhw no: BJQ0002
Part no: 7.0014 0P6077
Application/0.E. M:

HONDA 37240-657-003
HYUNDAI 94750-02600
KIA 94750 45001
NAZDA 0222 18 501/A
ROVER GPS124

SUBAKU 25240-KA050
SUZUKI 37820-82001

(Z(E; 24

% 1/8GAS % M4 ‘ T_,ﬁ 0.4bar

Whw no: BJQO003

Part no: 7.0016 FAE11610 OP6078

Application/0.E. M:

DAITHATSU 83530-30060-000
FIAT 553321200

FORD E532-9278-A
G.M 94 021 127

ISUZU  9-82720-209-2
OPEL 12.52.567
T0YOT .8353rr30010

Syt

L

0.4bar

;@2«#

Whw no: BJQ0004

Part no: 7.0017 0P6073
Application/0.E.N:

DAEWO0O 37830A82010-000

DATHATSU 83530-14030-000
FORD E9BZ-9278-A
G.M 91 123N

TOYOTA 83530-12010
NI SSAN 25240-89911
HONDA 37240-634-671

Mhw no: BJQ0O0O7

Part no:

Application/0.E. M:

TOYOTA 83530-10020
83530-12020
83530-30030

Mhw no: BJQ000S
Part no: 7.0008 OP6113
Application/0.E. M:

AUDI 021.919.081C
VoW 056.919.081D
026 919 081 1
SEAT 056 919 081 C
voLvo 1257137
1257137-8

% M10X1.0 ﬂ 635

1.0bar

Mhw no: BJQ000Y
Part no: OP6111
Application/0.E. M:

C@n’% 1/8GAS ﬂ 6.35 ’ I_'_'_"l 0.4bar
Mhw no: BJQOO0O05
Part no: PS$-100
Application/0.E. M:
CHEVETTE 457874
G M 1403454
14034354
15665282
25036214
‘C@ 21 %1#4-18-NPT @ 635 | (.7 | osbar

=

Mhw no: BJQ0O10

Part no:
Application/0.E. M:

KIA 0K900-18-501C
DAEWO00

http://www.okaymotor.com

V. W 056.919.081B
056.919.081¢C
SEAT 068. 919. 081
@24 g M10X1.0 ﬂ 6.35‘ T_,__+ 1.8bar

=gl =]



CATALOGUE OF OIL PRESSURE SWITCH

Mhw no: BJQOO11

Part no: 7.0114 0P6629
Application/0.E. M:

CITROEN/PEUGEOT 1131 J1

HONDA 37240-PHM-003

JAEGER 401742

TOYOTA 83530-14060/14070/60020/30090

G. M 94 854 295
VoLV 30874183
V. K J83 530 140 70
2a’ @ 1/8GAS 0.2bar

Mhw no: BJQ0O16

Part no:
Application/0.E. M:
BEDFORD PS-5307107

2 1/8GAS

6.35 ‘ 0.3bar

Mhw no: BJQOO012
Part no: 7.0071 FAE12410 0P6623
Application/0.E. M:

BMW 12 611 710 509

12611730 160

12 61 7 568 480
G.M 93 175 295
HONDA 37240-P5T-G01
LAND ROVER  NUC000040/NUC100280L/STC2252
OPEL 12 52 552/12 52 569

: 0.3bar

24| B m2x1s

Whw no: BJQ0O17

Part no: DOP1120

Application/0.E. M:

NISSAN 32005-21000

TOYOTA 83530-36011
83530-36020

o | B wearner| T 638 ‘ 0.4bar

Whw no: BJQ0013

Part no:
Application/0.E. M:
V. 171 919 829

Mhw no: BJQ0O018

Part no: 7.0012 FAE12260 0P6071
Application/0.E. N:

GITROEN 79 460 000 30/91 511 279 80
FIAT 9151443280

FORD 1626244/78 GB 9278 AB
PEUGEOT 1131.04/1131. 48

RENAULT 79 46 000 030/91 51 443 280
TALBOT 91 51 127 980

VOLVO. 1218028-7/1218190/1218190-5
22 | B 118-27-NPT 6.35 23| E MI1BX1S 6.35 0.7bar

Mhw no: BJQO014 Mhw no: BJQOOT9
Part no: 0P6070 Part no: 7.0042 0P6076
Application/0.E. M: Application/0.E.M:
ALFA FORD 1953 653/1 953 654/1 961 085
CHEV HOLDEN 2524089915/2524089920
FIAT NISSAN 25240-70J00 ™
IVECO 25240-89915 é»
OPEL 25240-89920
RENAULT 25240-6G2400

RENAULT 25 24 089 960

22 M14X1.5 635 0.3bar 24| B 1sGAS [Ex. 0.2bar
Whw no: BJQOO15 . Mhw no: BJQ0020
Part no: 7.0124 Part no:
Application/0.E. M: Application/0.E. N:
SKODA 047 919 081 MAZDA E5D3-18-501
115 094 201 E5D3-18-510
115094 202 32691-18-501A
JF01-18-501A
SUZUKI 37820-77E90
24 1/8GAS 6.35

24| B MIX15 6.35

http://www.okaymotor.com




CATALOGUE OF OIL PRESSURE SWITCH

Mhw no: BJQ0021
Part no: 7.0069 FAE12430 0P6622
Application/0.E. M:

Mhw no: BJQ0026
Part no: PS-85F PS103B OP6615 KS-67
Application/0.E. M:

DAEWO0O 90336039/96281689/96494264

FIAT 60593844,/7606596/7681395

G.N 55 354 378/90 335 039/96 494 264

OPEL 12 52 557/12 52 562

12 52 570/12 52 572/48 03 551

PEUGEOT 1131.98
. ShAB 45 04 585/90 569 684/95 44 610 [
£ 2 % M14X1.5{ @ L,__ 0.5bar &@ % @ 1/4-18-NPT ﬂ‘ M4 L'_L 0.5bar

Mhw no: BJQ0022 Mhw no: BJQ0027

Part no: 0PG074 Part no: 7.0015 0P6072

Application/0.E. M: Application/0.E. M:

BMW 12 61 277 642 G.M 94 312 940

FORD HONDA 37240-PD2-003/004

1SUzZU 37240-PT0-004/014/023

NAZDA 1Suzu 5-86202-831-0/8-94118-755-0 .’-

NISSAN 25240-89900/01/02/10
ROVER GPS177/GPS160/GPS182/GPS183
) - RENAULT 7701 052 674  OPEL 12 52 561/12 52 565

\{(@ 24\ % 1/BGAS E 6.35 L_l .C@ 24 % 1/BGAS ’ ﬁl 4mm ’ L,__¥ 0.4bar

Mhw no: BJQ0023 Mhw no: BJQ0028

Part no: OPG611 Part no: PS-85-U

Application/0.E. M: Application/0.E. M:

G.M 25036455 NISSAN 25240-89910

LEYLAND

ROVER

C@ 27 %m 18-NPT @ 6.35 _\_TTJ\} 0.3bar 0.5bar £ 2 % 14X18NPT Q‘ M4 T_,_L 0.4bar
Mhw no: BJQ0024 Nhw no: BJQ0029
Part no: PS104 Part no: FAE11070
Application/0.E. N: Application/0.E. M:
BUICK 57875 BOSCH
GHEVETTE 10002798 PORSCHE 911 606 230 00 .
911 613 571 01 4""%
V.N 068 919 181E é
056 919 081B '
056 919 081C
] VOLVO 1257137-8
C@zr %‘wa-zmp‘r @ §.35 L,__| C@za % mew} ﬂ 6,35 ’ L._l 0.3bar ‘
Whw no: BJQ0025 Mhw no: BJQ0030
Part no: Part no: 7.0052 OP6621
Application/0.E. N: Application/0.E.M:
BUICK 1260636 B.M.W 12 611 277 642
CADILLAC 25500672 SAAD 88 18 528

-

2.0bar

NG|

% 318-20UNF 6.35

e

% M12X1.5

E 635

http://www.okaymotor.com




CATALOGUE OF OIL PRESSURE SWITCH

Mhw no: BJQO031

Part no: KS-53
Application/0.E. N:
MITSUBISHI  MD-001482
NISSAN 25240-89911

0.3bar

&C\/ 27 % 1/8GAS El 6.35 l_,_l

Whw no: BJQ0O036

Part no: 7.0075 FAE12380

Application/0.E. M:

RENAULT 77 00 771 828
60 01 055 056

VOLVO 3343237
3343237-8

CHRYSLER T0-771828

JAEGER 335289

% M18X1.5

£ 2

@ L’“% 0.35bar

Mhw no: BJQ0032

Part no: DOP1117
Application/0.E.N:

TOYOTA 83530-30030
NISSAN 25240-89900

(C 21| & sarner ﬁ 4mm L._L 0.3bar

Whw no: BJQO037
Part no: 7.0051 FAE12920 OP6114
Application/0.E. M:

AuDI 171919 829A
SEAT 171919 829A
VK 171 919 829A

1.4bar

Al s

j@ 2 % M10X1.0

Mhw no: BJQ0033
Part no: PS118 KS-65 OP6412
Application/0.E. N:

Mhw no: BJQ0038
Part no: 7.0046 FAE12900 0P6112
Application/0.E. M:

G.NM 1370748 FORD 1 669 989
1619647 MWERCEDES-BENZ 013 542 05 17
FORD E0ZZ-9278A VW 068 919 081
SKODA 068 919 081
SEAT 068 919 081
C@; 27 %1:«1-18-NPT E 6.35 L — 0.5bar C@ 24’% M10X1.0 ﬂ 6.35 t—‘“\—% 1.4bar
Mhw no: BJQ0034 Whw no: BJQ0039
Part no: FAE13480 0P6619 PS-9 Part no: 0P6451 PS-61
Application/0.E. M: Application/0.E. M:
G.M 14014599 CHRYSLER 2256800
JAGUAR C 42200 2585110
ROVER GROUP GPS117 3004105
SAAB 83 04 40 LAND + ROVER
83 50 571
CHEV
C(}zw %HE-??-NF‘T B §.35 T_,__‘L 0.3bar C(\ 27 %3;‘8-1E—NPT| E 6.35 Lﬁ 0.7bar

Mhw no: BJQ0035
Part no: 7.0026 OP6079
Application/0.E. N:

BOSCH 0 344 101 040

B.M.W 13542173
6131 1 243 414 e
61 31 1 354 272 =
61 31 1 354 274 ¥4

MERCEDES-BENZ 004 545 26 14
V. 00A 919 081

C@ 24‘ M12X1.5 ’ B 6.35 ‘ T—,__t ‘ 0.35bar ‘

Whw no: BJQ0040

Part no: 7.0088 OP6631

Application/0.E. M:

DATHATSU 83530-87704-000
83530-87707-000

INNOGENT I 553310200
6553310200

Jee-l =

@ ‘ [,_.__L -0.4bar

http://www.okaymotor.com




CATALOGUE OF OIL PRESSURE SWITCH

Whw no: BJQO041
Part no: 7.0061 FAE12530 OP6625
Application/0.E. M:

1suzu 8-94123-390-0
8-94156-643-0

G. M 94 123 390
94 156 643

OPEL 12 52 511/42 93 983

HOLDEN 8941233900
8941566430

0.3bar

& 24 ?—?—}ﬁ!

%’ ‘I.-'SGAS“ émmé ‘

:q:ié; 27

Mhw no: BJQ0046
Part no: PS110
Application/0.E. M:

% 3/8GAS 6.35

0.5bar 0.5bar

LIt |

Mhw no: BJQ0042

Part no: 7.0016 FAE12240 MK3-02-09

Application/0.E. M:

KIA KK150-18-501C
KK150-18-501D
KK151-18-501

0.3bar

% 1/8GAS

C@ u E 8.35

Whw no: BJQ0047

Part no:
Application/0.E. M:
DF

B 4
= 3BGAS ‘

C@zs

4.5bar

Mhw no: BJQ0043
Part no: P§121
Application/0.E. M:

0.3bar

£ 27 % 1/8-2TNPT

T_: ‘E‘\. ‘ 0.4bar

§.35

| i(izz 24

Mhw no: BJQ0048
Part no:
Application/0.E. N:

B 1scas
=2

Mhw no: BJQ0044

Part no: DOP1130

Application/0.E. M:

TOYOYA 83530-14060
83530-10020

Whw no: BJQ0049

Part no:
Application/0.E. M:
DF

:@ 7 % 1/8GAS B] 6.35 L"Hi. 0.3bar d@ 2 %:sﬂ-zmm‘ ? M5 ‘ ?l_., | 0.8bar
Whw no: BJQ0045 Mhw no: BJQ0050 .
Part no: PS-111 Part no: KS-65P
Application/0.E. M: Application/0.E. N:
FORD
3 Mty
\‘t‘-l';‘,»
B woaner| ©) o3 | LI ‘ P -
ol 1/8-27NPT 0_ 6.35 ‘ R 0.4bar 0.3bar i 25 1/4-18-NP 6.35 0.3bar
7| F ] © GG [ o5 Ly

http://www.okaymotor.com



CATALOGUE OF OIL PRESSURE SWITCH

Mhw no: BJAO05T
Part no:
Application/0.E. M:
1SUZU

Whw no: BJQO056

Part no:
Application/0.E. M:
1SUZU

6@19 %1#4-13-NPT E 6.35 T_I\_l 0.8bar C@ 19 %SJBHNPT‘ ? M4 ?"\_b 4 5bar
Mhw no: BJQ0052 Mhw no: BJQO0ST
Part no: Part no:
sgplication/U.E.I: Application/0.E. M:
M””.
y
:@ 24’% 318GAS ? M5 Lo, 4.5bar C@ 24 % 1/8GAS ‘ % M4 ‘ Lxh_# 0.5bar
Mhw no: BJA0053 Mhw no: BJQ0058
Part no: 7.0116 FAE12460 Part no:
Application/0.E. M: Application/0.E. M:
CITROEN 1131 82/96.026.617
HYUNDAI 94750-29000
FIAT 9618305780 s
JAEGER 337182/33718201 o
NISSAN 25240-6F900 - 4
PEUGEQOT/PSA 1131.61/1131.82
RENAULT 96 18 305 780 y
&21T MIBX1.5 @ ‘ T_H ‘ 0.5bar (@ 2 % 1/4GAS ‘ El 6.35 ‘ L 3 4.5bar
Mhw no: BJQ0054 Mhw no: BJQ005SY

Part no: 7.0130 FAE12640
Application/0.E. M:
CITROEN-PEUGEOT 1131.C5

Part no:
Application/0.E. M:
TY

FIAT 9631846480
FORD 1 145 966/2560-9278-AA
NISSAN 25240-6F901
RENAULT 96 31 846 480
SUZUKI 16582-86CT0
T0YOT 83530-02040/5U001-00591
d@m]% MIBX1.5 r Ly | ostar AC, » %nmam‘ T ‘ e | osbar
Mhw no: BJQO05S . Mhw no: BJQ0060
Part no: Part no:
Application/0.E. N: Application/0.E. H:
TY
.-'4.,"»
&
‘&@ 2 %1:&-2?4\191' £.35 ey ‘ 0.8bar HC@H %m-w-um E 635 | T~ 0.8bar ’

http://www.okaymotor.com




CATALOGUE OF OIL PRESSURE SWITCH

Mhw no: BJQ0OG1
Part no: 7.0006 FAE11410
Application/0.E. M:

FIAT 4220161/4559907/5967744
FORD 3240239/3248349

G.M. 08954566/09301012

OPEL 1252506

PEUGEOT 1131.09
RENAULT 77 00 538 670/77 00 644 704
YOLVO 3277819-3/3342004-3

C{@ 22‘ % M14X1.5 ‘ B 6.35 T_rﬁ

0.35bar

| &g 2

Whw no: BJQ0062

Part no: FAE21010

Application/0.E. N:

ALFA ROMEO 105004520000

EBRO 945200/AR-5319-B/D-13480
FIAT 4022865/4165210/5108180
INNOGENTI 31331116

JAGUAR G 1606267

MOTOR IBERICA 945200/AR-5319-B

ROVER 13H 1731/13H 1731 N/560 775

Whw no: BJQO0GE

Part no:
Application/0.E.N:

El 6.35 T_l’\_L

% 1/8-27-NPT

0.3bar

Whw no: BJQOO67

Part no:
Application/0.E. N:
JF

l 0
(C = %1;3-2?«?1 % M4 ‘ N

0.8bar

AC 2?‘ %wa-z?.upr’ @ 6.3 ’ | ’ 0.3bar

Mhw no: BJQ0063
Part no:
Application/0.E.M:

Whw no: BJQO06S

Part no: OP6645 PS-103 PS-113
Application/0.E.N:

CADILLAC 1260636

BUICK 25500672
G.N 1260636
25025318
25036555

C@zat =] M10X1.0 ) L ] 0.3bar {@ 27 %‘ 1/4-18NPT @ 635 T 0.5bar ‘
Mhw no: BJQ0064 Whw no: BJQO06Y 5
Part no: Part no:

Application/0.E. N: Application/0.E. M:
TY TY
My, i
&

&@24 %wa.zmpr‘ ﬂ 635 | T | osoar C@725 %ua-zmpr El 635 | T | o3bar
Whw no: BJQ0065 Nhw no: BJQO0T0
Part no: PS-109-V Part no: IPOL5020
Application/0.E. M: Application/0.E. M:

FIAT
‘C@; a1 l%"1.-3,:&r~1|:‘r @ 6.35 i ‘ 0.4bar ‘ ﬁg u % M14X15 El 635 ‘ ey | o3ar

http://www.okaymotor.com




CATALOGUE OF OIL PRESSURE SWITCH

Whw no: BJQOOT71
Part no:
Application/0.E. M:
DODGE

Mhw no: BJA0OT76
Part no:
Application/0.E. M:
KUBOTY

C{(;zs %1:4-1%91 6.35 T—'H 0.3bar C@ﬂ% 1/8GAS ‘ @ ‘ ‘L:H 0.3bar ’
Whw no: BJQ0O72 Whw no: BJQOO77
Part no: Part no: FAE12450
Application/0.E. M: Application/0.E. M:
VOLVO 1609395-7
' . . ' = ~
&@QEI%M-I&NPT E 6.35 | Tsﬁ 0.4bar ﬁ@ 2 %{hﬂ-ﬂ-NPT @| ‘ (Lrh ‘ 0.5bar ‘
Mhw no: BJQ0O73 o~ Whw no: BJQ0O78
Part no: 7.0000 g Part no: (
Application/0.E. M: Application/0.E. M:
ALFA ROMEO  60593847/60805536/60807764
FIAT 4133922/4249594/4298311
4414583/4414599/4422049 e 4
LADA 2101-03810-60000 Hw
2101-38103-00/2101-3810600 =
SEAT 0003933680/SE 022942. 000A
V. 062 919 081 LASTAVA 01 450 185
\,@21 Mwm.s‘ B 8.35 ‘ T_:\__L 0.3bar C@zz % M10X1.25 ‘ L, 0.3bar
= ¥ = v

Mhw no: BJQ0074
Part no: OP6632
Application/0.E. M:

Mhw no: BJQ0OT79
Part no: BR1628

Application/0.E. N:
KHD 176023

i

= M10X1.25
==l

£

{

AUDI-V. W 06A-919-081
AC % M10X1.0 i 1.4bar
Mhw no: BJQ0OT5
Part no:
Application/0.E. M:
CITROEN DC000 38680

L%

3

0.5bar

% M18X1.5 B 6.35

e

Whw no: BJQ00SO
Part no: 7.0037 FAE13530
Application/0.E. M:

G.M 14 413 02
N-54006/08
N-54013/17/30

IHC 478097C1

ROVER GROUP  GPS154

SAAB 88 18 528
93 09 386

HC(@ 22 %1!4-18-NPT‘ E 6.35 |

0.4bar

http://www.okaymotor.com



CATALOGUE OF OIL PRESSURE SWITCH

Mhw no: BJQ0081
Part no: 7.0134
Application/0.E. M:

FORD 1100 767/1 224 914
SEAT 038 919 0818
06A 919 081
SKODA 038 919 081 B
038 919 081 M
VN 038 919 081 B/M

038 919 081

o] © [ [

Mhw no: BJQ0082
Part no: 7.0132
Application/0.E. M:

FORD 1108 808/1 206 977/1M21-9278-AA
PORSCHE 948 606 203 00 »
SEAT 038 919 081/038 919 081 C
SKODA 038 919 081

038 919 081 C/D/H/K
V.H 038 919 081

038 919 081 C/K

&g 24 - M10X1.0 ‘ @ ‘ T_Ll

0.7bar

17 | B 1s-27NPT
L8

Mhw no: BJQO086

Part no:
Application/0.E. N:
FORD KVT-9278-AA

T

E 6.35

&

0.4bar

Mhw no: BJQO08T

Part no: 7.0096 OP6644
Application/0.E. M:

ALFA-ROMEQ  55202374/60593845
CITROEN/PENGEOT 1131 98/1131 C7
FIAT 50008757/60 593 845
G.M 55 202 374/93 177 490
OPEL 62 40 251/62 40 415
SUZUKT 16582-79]50-000

16582-85E00-000
&}21 %mm.s( @ ‘ T_H

0.3bar

Mhw no: BJQO083

Mhw no: BJQO0BS

Part no: Part no: 7.0048 FAE11400 0P6070 ‘
Application/0.E. M: Application/0.E.N:
V. W/SEDAN/HASTA CITROEN 1131 44
91 521 111
FIAT 4151246
JAEGER 335039
PEUGEOT 1131. 44
SAME 27099 360 0
(ﬁ 24 éj 3/8-18NPT ﬂ M4 ‘ T—H @ 3 M12X1.5 E 6.35 Lx___% 0.6bar ‘
Mhw no: BJQO084 Mhw no: BJQO08Y
Part no: 7.0145 FAE12610 0P6643 Part no:
Application/0.E. N: Application/0.E. N:
FORD 1053881/1053882/1084764 PEUGEOT 28 0912 0849 20
1095149/1309298/1363198 { '
3571 9278 AB 4%, | My
98AB 9278 AA/CA J ; v/
X$27-9278-AA @
MAZDA YF09 18 501
PEUGEOT 1131 J2 |
C@ 2 % 1/4-18NPT ..' ‘ (I’_r\_ﬁ+ 0.3-0.5bar ‘ CA@ 21 ’ %mzm.zs ' ‘ Ll 0.4bar ’
Mhw no: BJQO08S Mhw no: BJQ0090
Part no: 7.0135 Part no: XOPS3 ‘
Application/0.E. M: Application/0.E.N: )
FORD 1094 739/1 428 055 AC 7954184/7954220
1421-9278-BA/95VH-9278-EA 7954237/7954238
SEAT-SKODA 06A 919 081 A 7954371
06A 919 081 D Yo 22 ROVER 519864
AUDI-V. W 06A 919 081 A @ 555760
06A 919 081 D 90519864
06A 919 081 E/J | ) GPS102/GPS103
‘\’{C] 2 %’ M10X1.0 ’ T_x_+ ‘ 1.4bar ‘d@zs& % 3/8-2088F El 6.35 ‘ °_r\_$ 0.6-0.85bar
-9-

http://www.okaymotor.com



CATALOGUE OF OIL PRESSURE SWITCH

Whw no: BJQ0091T

Whw no: BJQ0096

Part no: Part no: 2149
Application/0.E. N: Application/0.E. M:
BOSCH 0344 005 006
VOLVO 1 136 651
£24 g M10X1.0 ‘ T | ozbar ‘ £2? %i’ 118GAS El 635 Lr__‘L 1.0bar ‘

Whw no: BJQ0092
Part no: 7.0011 FAE12220 OP6281
Application/0.E. M:

Mhw no: BJQ0097
Part no: KS-58
Application/0.E. N:

FORD 0 409 160/1 027 970/1 066 811 BOSCH 0986 345 008 |
1414 897/3 466 716/6 080 608 DAIHATSU 83530 87102 000/87705 000 /"x,'“?
81AB-0278-AA/81AE-9278-BA Caeyy, HINO 83530 1080 )
B86AB-9278-BA/90AB-9278-AA 5 g HONDA 37240 634 305 a
TOEG-9278-AA MAZDA B366 18 501
WAZDA 1 E00 18 501/1 EO0 18 501 A SUBARU 25240-KA020
MOTORCRAFT  1414897/SW 978 || SUZUKI 37820 73002/37820 82000/82001
« 24‘ ‘Eg 1.'4.18NPT’ rDﬂalazuuc T_,LJ 0.4bar ‘ C@ 24 % 1/8-268SP Fl 635 | T 0.3bar ‘
Whw no: BJQ0093 . Whw no: BJQ009S
Part no: MO4-HTX-029 % Part no: _
Application/0.E. N: Application/0.E. N: .
HONDA 37200-590-036 DAEWO00 5P25036834
37240-634-671
37240-657-013
C(;N % 118-27NPT E,E 6.35 ‘ TIL_‘T_ 0.3bar ‘ C@N %tﬂflﬁNPT 635 | TFh | osvar | o02bar
Mhw no: BJQ0094 Whw no: BJQ0099
Part no: Part no:
Application/0.E. N: Application/0.E. N:
TOYOTA 83530-60030 CHEVROLETVG
&26 % 1/BGAS % 5.35 ‘ T_r_\ 0.3bar ‘ £ 27 % M12X1.5 (z) 635 i 6.2bar ‘
Whw no: BJA00YS /e Whw no: BJQO100
Part no: Part no: 7.0146 FAE12613 0P6640
Application/0.E. N: Application/0.E. N:
FORD 1116647
1226 188 p
1363 512 Y
18TA-9278-AA
3M51-9278-AA
3H51-9278-AB
o — & = = 9
}\f@ u| 2 1/2-20-UNF ﬂ 6.35 T—H 0.3bar \ﬁza % 1/4-18NPT E-\g, ‘ & - 0.25bar

http://www.okaymotor.com

-10 -



CATALOGUE OF OIL PRESSURE SWITCH

Mhw no: BJAO101

Mhw no: BJQO106

Part no: Part no:
Application/0.E. M: Application/0.E. M:
LADA
C o | B weer| T m ‘ Tre | o7ear ‘ 2| B mexio 63 | T | osvar
=l G| @ o] [ T
Mhw no: BJQO102 Nhw no: BJAO107
Part no: FAE12883 Part no:
Application/0.E. M: Application/0.E. M:
Audi-VW 037 919 081 B f
06A 919 081 B
'ﬁ,'y
C@ 2 | B2 mi0x10 @ T 1.8bar lC/kE; f % 1/8-27NPT| 6.35 i\jix\‘ ‘ 0.2bar 0.3bar
Whw no: BJQO103 Mhw no: BJQO108
Part no: FAE12870 Part no:
Application/0.E. M: Application/0.E. M:
Audi-VW 028 919 081 E
028 919 081 6
C@’ 2 % M10X1.0 ’ 0—*% 0.25bar ‘ !&/ 2% %1-‘8-2”4[“ r[l M4
Whw no: BJQO104 Mhw no: BJQO109
Part no: Part no:
Application/0.E. M: Application/0.E. N:
AC 7 % M12X1.5 El 63 | T~ | oabar ‘£ 1 ’ % 1."8-2?NPT’ @ 63 | T, 7 | osoar
Mhw no: BJQ0105 Mhw no: BJQO110
Part no: FAE12420 KS-54N / Part no:
Application/0.E. M: Application/0.E. M:
NISSAN 25240-70400
25240-89920
25240-89915 i
25240-G2400 )
‘\//f\@ 2 % 1/8GAS @ ‘ Ly 0.3bar ‘ ‘&(; 11 ‘ % 1/8-27NPT | @ 6.35 1,7 | o4sbar
- = 4 " o

http://www.okaymotor.com

-11 -



CATALOGUE OF OIL PRESSURE SWITCH

Mhw no: BJQO111 Mhw no: BJQOT16
Part no: Part no: 7.0091 FAE12470
Application/0.E. M: Application/0.E. N:
HONDA 37240-P5T-G00
LAND ROVER NUC10003
ROVER GPS 135
NUC10003 )
UNIPART GPS 135
C'/@ 24 ‘ % 1/8GAS @ ‘ ‘C((; 22 % 1g2neT| () ’ T_r\__TL 0.35bar ‘
Whw no: BJQ0112 Mhw no: BJQO117
Part no: 7.0102 Part no: 7.0076 FAE12370 OPG635
Application/0.E. M: Application/0.E. N:
LAND « ROVER  AMR2092 RENAULT 7700 771 825
PRC7204 YOLVO 3343427
ROVER PRC7204 3343427-5
UNIPART GPS159
CL@ za‘ %nz.zo.uw H £.35 ‘ T_r\_Jf 0.2bar C@ 2 % M14X1.5 @ ‘ T—,_l 0.35bar ‘

Mhw no: BJQ0113

Mhw no: BJQOT118

http://www.okaymotor.com

Part no: 7.0119 FAE11710 0P6641 Part no:
Application/0.E. M: Application/0.E. N: _
FORD 7072 644 BOSCH 0842 331 014 '
UNIPART PRC 4044 FIAT/IVECO 3416590
LAND ROVER PRC 6387 KHD 341 6590/5145 80 16 41
LANCIA 3416590
MERDEDES-BENZ 000 763 1410/A000 763 14..
RENAULT 5000 080 230/5000 271 900
. L YoLvo 1571540/240112/241374 |
(,/@;25'5 M10X1.0 El 63 | T | ostar ‘ ‘ ‘C@ 24 ‘mz-ns} ﬂ 48 Fl ‘ o | 0.5bar ‘
Mhw no: BJQO114 Mhw no: BJAO119
Part no: 7.0047 Part no: _
Applicaticn./ﬂ.E.H: Application/0.E. M:
1266085-8
1324750
1324750-7
1606877
1606877-7
AC %1:&27in fo] s | Ty | o0a ‘ ‘&‘9 2 1/8GAS El 63 | T | ozbar
Mhw no: BJQO115 Whw no: BJQ0120
Part no: 05-03L Part no:
Application/0.E. M: Application/0.E. M:
TOYOTA 83530-10010 PEUGEOT 1512. 46
83530-14010
83530-14060 :
//@25.5 % 1/8GAS ﬂ 6.35 T_IH 0.3bar ‘C@ 21| B maxis EL 8.35 ’ T | 04spar ‘

-12 -



CATALOGUE OF OIL PRESSURE SWITCH

Mhw no: BJA0121
Part no: 7.0027
Application/0.E. N:

FIAT 33331115
633331115

JAGUAR 642200

LAND ROVER  RTC3651

ROVER GPS101/6PS126
GPS131/6PS133

SAAB 83 50 571

I

0.3bar

Mhw no: BJQ0126

Part no:
Application/0.E. M:

‘& 22 %ws-zmﬂ’ B 5.35

Mhw no: BJQ0122
Part no:
Application/0.E. M:

C@/ 2 ’ % 1/8-27NPT

B 6.35

0.3bar

Mhw no: BJQO127

Part no:
Application/0.E. M:

[ee [

Mhw no: BJQO123

Part no:
Application/0.E. M:

Mhw no: BJQ0128

Part no:
Application/0.E. N:
RENAULT 77 00 413 763

% 3/8-24UNF ® §.35

.

1.9bar

4 8bar

=1 o =M - Al o °
[V/f? zd. % 1/8-27NPT D; 635 ?_M; 0.3bar C(@ 27 |?.16-2UUNF Ll 28 M T 0.5bar
Nhw no: BJQO124 Mhw no: BJQ0129
Part no: Part no: FAE28030
Application/0.E.N: Application/0.E. N:
BOSCH 0344 400 010
MERCEDES 000 545 45 09
000 545 60 09
364 545 74 09
E 6.35 T_\j 0.3bar 0.3bar

d@ 2 ’ % 1/8GAS

Mhw no: BJQO125

Part no:
Application/0.E. N:
DAEN0O 25036834

% M14X15 6.35
==

| Gt

0.3bar

0.2bar

[l wmxe | B, &
G| B)kms | Bewef | LI

Mhw no: BJQ0130
Part no: FAE10250
Application/0.E. M:
MERCEDES 004 542 59 17

Cﬁ/zs

T

% M14X1.5 ’%’ M4

BN

1

0.4bar

http://www.okaymotor.com

-13 -



CATALOGUE OF OIL PRESSURE SWITCH

Whw no: BJQO131 Mhw no: BJQ0136
Part no: Part no: PS-81A
Application/0.E. M: Application/0.E. M:
0118 1553 G.M
) — i . - :
i o| 635 52, ==T | M5 0.3
C@ 24 ‘ M10X1.0 D ‘ T—'H 1.6-2.4bar ﬁ@ 27 %Nmumi Ell I_,___l bar
Mhw no: BJQ0132 Mhw no: BJQ0137
Part no: Part no: PS-13A
Application/0.E. M: Application/0.E. M:
0118 1560 CHRYSLER
C@ 24 % M14X1.5 4@[’ LJLL 0.7-1.3bar £ 27 % 1/8GAS ﬁ 6.35 L__l 0.3bar
Whw no: BJQO133 e Whw no: BJQ0138
Part no: / Part no:
Application/0.E. M: Application/0.E. M:
PEUGEOT 1131. 44
£ 21 ‘ % M12X%1.5 B 6.35 ‘ T_L 0.35bar j@ 22 %Ha-zmw - ‘ T j’ 0.75bar
Whw no: BJQO134 Mhw no: BJOO139
Part no: FAE10610 Part no:
Application/0.E. M: Application/0.E. M:
HONDA 37200-611-154 VDo 112/3/15
37240-657-003
37240-P13-003
37240-PA6-004
MAZDA 0222-18-501, A/0813-18-501, A
SUBARU 25240-KA050
SUZUKI 37820-82001 )
C@za gsmmasp‘ ﬂl Mé G_r\ﬁ 0.3bar &@2? % M10X1.0 %j Mé ‘ L,___l 0.5+0.1 bar
Mhw no: BJQO135 Whw no: BJQ0140
Part no: FAE12614 Part no:
Application/0.E. M: Application/0.E. N:
FORD 96JV-9278-AA
JAGUAR LCA5642AA
AC, % 1/4-18NPT T 0.45bar C@ 21 @J M12>:1.5g BI 4mm T—._l 0.6bar
‘/&\9 = ¥ - == |l +

http://www.okaymotor.com

-14 -



CATALOGUE OF OIL PRESSURE SWITCH

Mhw no:

BJQO141
Part no:

Application/0.E. N:

Whw no: BJQ0146
Part no: FAE12350
Application/0.E. N:
RENAULT 77 00 777 660

4

C(C:"m %m-m.w >[E.:._;‘1:‘? ' L_J 0.45bar C@; 2| B maxis (E) ‘ L__l
Whw no: BJQ0142 Mhw no: BJQO147
Part no: Part no: 7.0084 FAE12360

Application/0.E. M:

a

1.5bar

C@ 22 M10X1.0 @

Application/0.E. M:
RENAULT 77 00 771 827

2

O~

0.21bar

&

‘ 2.0bar

BJQO143

Whw no:
Part no:

Application/0.E. N:

A

1.5bar

(T

Whw no: BJQO148

Part no: 7.0153 FAE12635
Application/0.E. N:

NISSAN 25240-000AE
RENAULT 82 00 062 452

% M14X1.5

4

0.9bar

Whw no: BJQ0144
Part no:

Application/0.E. NH:

4

Mhw no: BJQO149

Part no: 7.0131 FAE12630 0P6636
Application/0.E. N:

G.H 91 08 194
JAEGER 33491904
NISSAN 25240-000AA

25240-000AD
25240-BN700

f

OPEL 44 00 194
RENAU T 77.00 417 970
C@ 2 woxto | (E=) L_l 1.5bar Cﬂ__} 2 E M14X1.5 @ Lﬁ 0.2bar

Mhw no: BJQ0145 Whw no: BJA0O150

Part no: 7.0151 FAE12636 Part no:

Application/0.E. M: Application/0.E. M:

G.M 93 160 284 RENAULT

JAEGER 40242801

NISSAN 25240-000AB

25240-AN300

OPEL 4410676

RENAULT 82 00 026 650

VOLVO 9128771-4

0.5bar

\,’@ 2 ’ % M14X1.5 ’ ‘ L,._4

Cﬁ@zz

% M14X15 é\fj

=

0.3bar

http://www.okaymotor.com

-15-



CATALOGUE OF OIL PRESSURE SWITCH

Mhw no: BJQO151
Part no: 7.0110 FAE12490 0P6634
Application/0.E. M:

Mhw no: BJQ0156
Part no: FAE12440
Application/0.E. N:

é;v

MITSUBISHI M-851148 FIAT 7710823
RENAULT 77 00 834 918 71710824
| f= | ~— |r
(/{Q 2 % M18X1.5 @ ‘ ]_,_l 0.2bar £ 2 M12X15 | @) ‘ | P . 0.3bar
Mhw no: BJQ0152 Mhw no: BJA0157
Part no: FAE12520 Part no: 7.0140
Application/0.E. M: Application/0.E. N:
RENAULT 77 00 845 214 SEAT 047 919 081 A
SKODA 047 919 081 A
(A 047 919 081 A
d@ 22 ’ % M1BX1.5 @ ['_‘"—1 0.15bar aji@ 2 % M16X1.5 ﬂ 6.35 T_./_L 0.9bar |
Mhw no: BJQO153 Mhw no: BJQ0158
Part no: 7.0086 FAE12480 Part no: 7.0023
Application/0.E. M: Application/0.E. N:
GM 90 337 836 FORD 3 240 239
I1suzu 8-90336-039-0 3248 349
OPEL 12 52 566 G.N 08 954 566
89 545 66
HOLDEN 8954566
OPEL 12 52 506
) ) i PORSCHE 986 606 203 02
&g 2 ‘ % M16X1.5 @ ‘ L___L 0.6bar Q@ 24‘ % M14X1.5 ‘ ﬂ 6.35 ‘ T_,__l 0.3bar
Whw no: BJQO154 Mhw no: BJQA0159
Part no: FAE12570 Part no: 7.0025
Application/0.E. M: Application/0.E. N:
FIAT-IVECO 98442879 BOSCH 0344 101 035
BMW 61311352 620
A
o a ';W;_;
AC % wexis| (@) L___; 0.8bar C@; | B waxts El 6.35 L,___l 0.15bar
Whw no: BJQ0155 Whw no: BJQO160
Part no: 7.0141 FAE12436 Part no: 7.0108
Application/0.E. M: Application/0.E. M:
FIAT 55354325 BOSCH 0344 101 082
G N 55 354 325 FORD 1 669 963
90 534 902 . 95VN-9278-BA
OPEL 12 52 555 iy MERCEDES-BENZ 013 542 06 17
12 52 573 k‘:' SEAT-SKODA-VW 028 919 081 D
: VOLvO 9186134
’£ 24 % M10X1.0 ‘ L. 0.5bar qﬁ 2 M10X1.0 6.35 L . 0.3bar

http://www.okaymotor.com

-16 -



CATALOGUE OF OIL PRESSURE SWITCH

Mhw no: BJQO161 Whw no: BJQ0166
Part no: FAE11200 Part no: FAE11630
Application/0.E. M: Application/0.E. M:
BMW 61 311 354 272/61 311 354 274 FORD 1646357
FIAT 4151243/4151564/4152127 86 GB 9278 AB
4304418/4305685/4431182 PEUGEOT 1131.45
4459908/4473333/4998770
5107603/5107683/5927407
SEAT 3933681/4431182/4473333
CA-942000.04/942000. 04 ) )
(:_@/‘_ 2 M12X1.5 ﬂ 6.35 ‘ T_I\_L 0.4bar CKCJ 2| B wexis JiL 6.35 ]’_,t\__ 0.8bar
Mhw no: BJQ0162 Whw no: BJQO167
Part no: FAE11250 Part no: FAE11650
Application/0.E. M: Application/0.E. M:
ALFA ROMEO 510 621/60504190 CITROEN 95 521 111
CITROEN 91.521.112 PEUGEOT 1131, 44
95. 494,103
95. 556. 508
RENAULT 08 53 621 300
YOLVO 3100759
3100759-4 _ _ )
AC 2| B wexts B 635 | Ty | osba A 22‘ Z r.112x1.5\ B 5.35 \ T \O.Gbar
|
Mhw no: BJQ0163 Whw no: BJQO168

Part no: FAE11260
Application/0.E. M:

Part no:
Application/0.E. M:

CITROEN 95.493.861/95. 562. 366
FIAT 3896007/3901430/3911925
3921356/3928822/4133922
4249594/4298311/4414583
LADA 2101-38100600
PEUGEQT 1131.12
SEAT 4459907/FA-942000.00/01/02/03/04
ufii 2 é? M14X1.5 [EL 6.35 ‘ T_jx__; 0.6bar ,ﬁgz ll_;Jaa'sw
Mhw no: BJQO164 Mhw no: BJAO169
Part no: FAE11270 Part no:
Application/0.E. M: Application/0.E. M:
CITROEN 91.040.130
91.521.113
PEUGEQT 1131.14
SKODA 047 919 081
115 094 201/115 094 202

ROVER GROUP GPS 138

TALBOT 91 040 130 80 : )
\;Q; 22‘ :« M16X1.5 B 6.3 o_r;l 0.5bar Cf(; 27 %’lﬂam NPT ‘ T—'H 0.65bar
Mhw no: BJQAO165 Whw no: BJQO170
Part no: FAE11620 Part no: 7.0097
Application/0.E. M: Application/0.E. M:
CITROEN 79 102 483 33 FIAT 7710824
PEUGEOT 1131, 54
RENAULT 7700 717 982
77 00 752 360
77 01 349 794
VOLVO 1218360-4
3287726/3287726-8
\{r_i 2 msma‘ B 6.35 ‘ T—'H 0.35bar rir: 21 M12X1.5 @ ‘ "_r\_l ‘ 0.3bar

http://www.okaymotor.com

-17 -



CATALOGUE OF OIL PRESSURE SWITCH

Mhw no: BJQO171

Part no:
Application/0.E. N:

% 1/8-28PT

6.35 ‘ CI‘_]\_L

C@zat

Mhw no: BJQO176
Part no:
Application/0.E. N:

y

0.35bar

ﬁ 4mm

AC#
L=

% 1/18GAS

0. 3bar

Ly

Mhw no: BJQ0172
Part no:
Application/0.E. MH:

6.35

%’ 1/8-28PT

R

6@24

Whw no: BJQO177

Part no:
Application/0.E.M:

4

:[( 25.6

0.7bar ‘

%1-‘&-2?NPT 5 4mm

Mhw no: BJQO173
Part no: PS-11
Application/0.E. N:

G. M 1194214/1359289
1508319/1508668/1539898
3142826/3200422/3818783
439312/ 534598/ 5653197/5653397

FORD KS47175/105€-9278B

SAAB 8304404

C(@z? %na-zmm 6.35 L,ﬁ

0.5bar ‘

L'“_%

5. Sbar

Whw no: BJQO174
Part no:
Application/0.E. MH:
G.M

E 6.35

:(C 27 %m-mum L_l

-4

0.2bar

Whw no: BJAO175
Part no: OP6282 PS-92
Application/0.E. M:
CHRYSLER

&@ 27 E 6.35

% 1/8-2TNPT L.__.l

2

0.3bar

http://www.okaymotor.com

-18 -



